=
<

o(0 @) (rad)

TP n (PCA to beamline)

5

cen ‘6
- .-r o
. . 8 =l
O 510
) :
10|

0 1 2 3 0953 = 1 0 T 2 3

TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__mkFit-cand__RECO

1

~ 1 —
5 £
5 S
2 -
5 S
5 ©
1071
107
o tw + o 10:,%
T : =
o : o
I ; il
0983~ "1 0 1 2 3 092
TP n (PCA to beamline)
~ 1 -
E_ N
-
o
o
o
107t

@ E : |

O 1.05F------ - 1A 1 O ||
[ ~~ u-:.» 4 4. 44 ¥ Y
0983 a0 I 2 3

TP n (PCA to beamline)

TP n (PCA to beamline)



	Contents
	Page 1


